
 

21783
 

  TITAN
 BILLET OVERLAY     
      

3 PC Billet Overlay W/Logo Cut Out 

Tools Required:

2008-12 NISSAN TITAN

08-12 NISSAN

 

21783
  TITAN
BILLET OVERLAY     

08-12 NISSAN

 

  Hardware / Parts Included:                                                       
Phillips / Slotted Screwdrivers 1 Billet Insert (Center)  8 #10 Washers 
5/16” Wrench or Nut Driver 2 Billet Inserts (Right & Left)  8 ½” L Brackets 
 8 6-32 x 2 Machine Screws 
 8 6-32 Nylon Lock Nuts 
  

Read and understand instructions before attempting installation 
 

Step 1 
Test fit the grilles in place. On top of the grille; use a small slotted 
screwdriver to release (¼ turn) four plastic fasteners (1). Slightly pull the 
grille forward. Now release three clips along the bottom of the grille. 
Remove the grille. The side openings have plastic air shrouds held in place 
by molded clips. Remove the air shrouds. Use a heat gun or hair dryer to 
remove the OE logo from the factory grille.  
 
 
 
Step 2 
Install a machine screw into mounting holes welded to grilles. Place the 
center insert over the factory grille. Install an L bracket, washer and nut 
onto each screw. Wrap the brackets around the mesh (2). Tighten the 
hardware. Repeat this process on the side inserts.  
Thank you for purchasing a T-Rex Billet Grille. 11/15/07 

1 

2 


